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Time : 3 Hours Max. Marks : 60

Note : This paper is of sixty (60) marks containing three

(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer type
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questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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Explain the significance and limitations of Statistics in
Psychology.
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What do you understand by Normal Probability
Curve ? Describe the various characteristics of N. P. C.
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What do you understand by Reliability ? Describe in
detail the types of reliability.
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What is Psychological Measurement ? Differentiate
between qualitative and quantitative measurement.
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Note : Section ‘B’ contains eight (08) short answer type

qre :

1.

questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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Coefficient of correlation.
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2. Calculate mean of the following scores :
Scores:5,8,7,6,10,9,6,5
[ Ifhd UTaITl & A @1 0T DI -
WIdlid : 5, 8, 6, 7, 10, 9, 6, 5

3. Measures of central tendency.
D gy & A1 |

4. Sheppard correction.
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5. Item analysis.
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6. Typeland Type ll errors.
TRy | 3R TI3Y 11 T |

7. Tell various types of Statistics.
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8.  What are norms ?
AHE T BN § ?
Section—-C / U1
(Objective Type Questions) / (A&ITS Te)
Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.
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Choose the correct answer.
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1.  Which is not the measure of central tendency ?
(@ Mode
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(b) Range

(c) Median

(d) Mean
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The value of perfect positive coefficient of correlation
is:

(a) 0.00

(b) £1.00

(c) +1.00

(d) —1.00
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Rank difference correlation was first used by :
(@) Fisher

(b) Pearson

(c) Ferguson

(d) Spearman
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(@) By
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Who wrote the book ‘Psychometric Methods’ ?
(@ Anartasi

(b) Cronback

(c) Guilford

(d) Freeman
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Which is not type of scale ?
(@ Nominal

(b) Ordinal

(c) Reliability

(d) Ratio
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6. The coefficient of Kurtosis of a normal probability
curve is :

(@ 0.263
(b) +1
(c) 0
(d) =3
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(31) 0.263
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7. Descriptive Statistics is associated with :
(@) Estimation
(b) Presentation of the data
(c) Regression
(d) Statistical inference
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8.  Which is not a type of validity ?
(@) Logical validity
(b) Split half validity
(c) Content validity
(d) Factorial validity
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9. Formula for “r” is:
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10. Chi-square test is related with :
(a) Gaussian curve
(b) Observed and expected frequencies
(c) Simon curve
(d) None of these
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